
LP1001 - Grass Groomer - 42 Edge - Tractors

ITEM # PART # DESCRIPTION QTY.
1 ST60034 Brush Assm, 22" Bent 2
2 ST60048 Brush Support 1
3 ST60047 Brush Mount Frame 42" 1
4 ST65003 3/8 Flat Washer 2
5 ST65026 3/8" Star Lock Washer 2
6 ST65082 3/8 x 2 Carriage Bolt 2
7 ST43289 3/8 Plastic Knob 2
8 ST65008 5/16 Flange Nut 6
9 ST65089 3/8 Nylock / Stover Nut 2
10 ST65006 5/16 x 3/4 Carriage Bolt 2

5-22-18

10

7
5

4
6

8

10

2

3

8

9

1

Revised: 


